[ number of missing inner layers | [ number of missing outer layers |

1g - - - - —] Entries 141211 1g - - - - —] Entries 141211

3 : : : : + | Mean 0 3 : : : : + | Mean 0

r Std Dev 0 r Std Dev 0

L —_— R I O S O Y S S S N

10°E Entries 141010 10°E N TS 141010

F Mean 0 F : : : : : Mean 0

L Std Dev. 0 - N N H N . |_Std Dev. 0

o 1 Y I e ]

10 3 Entries 138141 10 3 . . . . + | Entries 138141

E Mean 0 E Mean 0

3 I Std Dev 0 3 I Std Dev 0

10°F I EEEE EEEEE TR | 10 e Y LI EEEES EEEEE CEREE |

o Entrie 140975 o Entrie 140975

r Mean 0 r . . . . . Mean 0

10_4 Std Dev 0 10_4 N N N N N Std Dev 0

E R | E "1 P P P R R |

F Entries 138137 F : : : : : Entries 138137

L Mean 0 L . . . . . Mean 0

10—5__ | Std Dev 0 10—5__ I R P e N eeatene.v.. Std Dev 0

o'lﬂag"" T e N el b b gy 01959'”” b b b b b e b by
= : : : : : = [ :

© © N
o o [

r i

09005 1 15 2 25 3 35 4 45 5 09N"05 1 15 2 25 3 35 4 45 5

—— DM T
—p— ) m
[Cmean il — %% -
mean hif —— g&M-m
— 5 -] Entries 141211
Mean 2
[ Std Dev 0
Q 45 ——
2 4 Entries 141010
E Mean 2
vV Slld Dev. _ 0
3.5 ettt
| Entries 138141
3 Mean 2
Std Dev 0
2.5 T T ]
Entries 140975
2 Mean 2
Std Dev 0
I
15 Entries 138137
Mean 2
1 “| Std Dev 0
0.5 .
| P BN B BT B B . N N A N T .
o LW T T T T T o +L.Vor T
8 8
o [ H H H H H @ [
I+ sndannasanaasae - - - - - - [ aspaasnnssndannsss- aa 1+
0.95 : : : : : 0.95% : : : . : . : : :
=3 -2 -1 0 1 2 3 0V 05 115 2 25 3 35 4 45 5
track n track hits
[ N of simulated tracks vs pT | [N of reco track vs pT |
Entries 133002 _ - - Entries 6081460
Mean 2.164 r : : Mean 3.078
Std Dev 6.079 . . : Std Dev 24.41
: I 107 1 It T
Entries 133002 - Entries 6069711
Mean 2.164 r : Mean 3.079
Std Dev 6.079 _ . Std Dev 24.41
: I 1072 He . S g T
Entries 133002 E : Entries 6017676
wle:n 2.164 o Mean 3.084
StyDev 6.079 Y T P Dev 24.45
: : H 10°F i ;
Entrids 133002 F Entries 60688
_4 N N Mean 2.164 - N N Mean 3.009
107 [ H Std Dev 6.079 AL e P Std Dev 2
: : : I — 107E : : : [
B Entries 133002 - Entries 6017625
i Mean 2.164 - : : Mean 3.084
Std Dev 6.079 10—5=_.. . PR Std Dev 24.45
o10%F
=
=] [
a4 [
-
* 0.95




	Contents
	Page 1


